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5 Year M.Sc. DEGREE EXAMINATION, NOVEMBER/DECEMBER 2009.
Third Semester : ’
bomputer Technology
XCS 235 — DATA BASE MANAGEMENT SYSTEMS

(Common to 5 year M.Sc. Software Engineering and 5 year M.Sc. Information
Technology)

(Regulation 2003)
Time : Three hours s e | : - Maximum : 100 marks
Answer ALL questiohs.
PART A — (10 x 2 = 20 marks)

1. What is meant by data model?

2.  Give an example for ternary relationship in the ER model.
3.  Distinguish betwéen dense index and sparse index.

4. What are the components of disk block address?

5. Using college relation r, write relational algebra queries to find out how many
students are doing dual degree using aggregate function and without using
aggregate function.

COLLEGE (Name, Reg no, Course)
6. What is database tuning?
7.  Draw the state diagram of a transaction.
8.  List the properties that must be satisfied by a transaction.
9. What is meant by revoking a privilege?

10. Brief about log-based recovery.
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PART B — (5 x 16 = 80 marks)

Explain the design of Entity Relation Dlagram schema with a

suitable example. : (10)

(ii) Discuss the responsibilities of Database Admlmstrator (DBA) and
data base designer. (6)

(i)  Explain the features of different data models. | (8)
(ii) Discuss the DBMS Architecture. (8)
(i)  Explain RAID levels in detail. : (8)
(i) How insertion aqd deletion is done on B+ trees. (8)

' = Or

Discuss external hashing technique. (16)
(i) Describe the operation of relational algebra. - (10)

Consider the STUDENT Database with the following attributes
STUDENT-PER (Siudent__name, Reg_no, Address)
STUDENT-ACE (Reg no, Dept, Percentage)

Write the domain relational calculus for the following quries.

(1) Find all students name, Register number and percentage
greater than 75.

(2) Find the student name and percentage whose register number is
910701.

(3) Find the number of students whose percentage greater than 60
for ‘CSE’ dept alone. (6)
Or

Consider the relation R={A,B,C,D,E,F,G, H,LJ } and the set
of functional dependencies F ={{A,B}— {C},{A} > {D,E},

{B} - {F}, {F}— {G,H}, {D} > {I,J}}. What is the key for R?
Decompose R into 2 NF and then 3 NF relations. (10)

How does tuple relational calculus differ than domain relational
calculus? Give necessary example. (6)

Describe about how to test the serializability with necessary example.(16)

Or

Discuss the steps in processing a query with relevant example. (16)
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Explain the following protocols for concurrency contrel :
(i) Lock based protocols

(11) Time stamp based protocol.
Or

(i)  Brief about shadow paging.

(i1) Discuss the problem of statistical database security.
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